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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2013
PART-III

ECONOMICS - Honours
Paper-V
( New and Old Syllabus )

Duration : 4 Hours Full Marks : 100
The figures in the margin indicate full marks.
AR 7RG 7T o |
Use separate answer scripts for each group.
4fefd Reitsi T ST Segeid TR e |
( NEW SYLLABUS )

GROUP - A
feetal -+
1. Answer any two questions 2x3=6
a) What is meant by factor intensity reversal ?
b) How does the idea of comparative advantage differ from that of absolute

advantage of free trade ?
(Pl s (e Y fcena pewnger JfRara airelft vam fkdia giaen seers #4242
c) Show that optimum tariff has to be at a point where elasticity of foreign offer

curve is greater than unity.

(R @ I 3% Fer qifdey 49R @I G949 RS 28 @RI Rfogisiael araa o

il
d) What is meant by effective rate of protection ?
e) What is the importance of homotheticity of trade in Heckscher-Ohlin model ?

2E-afem rete @ranfe o uwg b 2
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Answer any one question : 1x9=9

a)

Define trade indifference curve. State two important properties of Trade

indifference curve with proof.

b) Discuss some cases where import tariff-quota equivalence breaks down.
c) ‘Do you think that incomplete specialisation is a necessary condition of the
factor price equalisation theorem ? Explain your answer.
Answer any three questions 3x15=45
a) i) Define and derive the offer curve of a country.
ii) What is meant by offer curve elasticity ?
iii) How are import-demand elasticity and export-supply elasticity related to
offer curve elasticity ? 2+6+7
iR biRviere ffogioRmel 8 gl QIMee Rfogerrer ek afde o
@R oo F=iF Rufad = |
b) i) What are the definitions of factor abundance ?
ii) Establish Heckscher-Ohlin thoery in terms of price definition of factor
abundance.
iii) Show that Heckscher-Ohlin theorem is invalidated in presence of factor
intensity reversal. 4+7+4
c) i) Analyse the partial equilibrium effect of import tariff and import quota.
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d)

€)

I SIPITIRER Srawre] % 8 AReers Tger weree Rogyd s

i) When shall the effects of these two be equivalent ? 10 +5
e GTh Fer Ofd Z@ 2

i) What do you mean by internal and external balance of an economy ?
@i i SAIey srojaRld ¢ afsfasmy g@ce & a2

ii) Explain how internal and e¢xternal balance may be simultaneously
attained with the help of Swan-diagram.
QPR A3 WA @ qfFefaTy [FerR sfens 20 i o ‘(TR -fbrad STRICH 513
PP |

iii) Discuss the Assignment Problem in this connection. 2+8+5
G AR SYIAZACTS FI RS e |

- Consider that the consumers of a country have rigid taste patterns. Suppose

the indifference curves for the country are strictly right-angled and the corner
of each ever-higher indifference curve lies on the ray from the origin. To be
precise, suppose that whatever the prices prevailing in the market, two units of
food are demanded for each unit of clothing demand. '

Furthermore, suppose the transformation schedule - shows considerable
flexibility in production, so much so that it is a downward sloping straight line,
with a vertical food intercept of 20 units and a horizontal clothing intercept of
40 units.

41 A (PN (TR (STSIMG IR0 &7 Sl | (ACeR Ao @=iafa sace )« dfefo
Bebod R (2l (1R YA Rygamd) saeicaan sfEe | siefe arared 9dd $emme a1y
R @ Al @, coletan Fenr vt 3THG Ao MY 9% TBHG 1946 (SI5 IE@A | (A
Besima FRET @A YAT ANTN @@ A e e a8 SEe @iy 20 265 3w
Qg TGS @ 40 TTRE #191Y |

i) If the country cannot engage in trade, how much of each commodity

does it consume and produce ?

fr (il qifeicens Sigeiazd F1 $02 SR TGY WA AR @ (SITald AR 3o g« ?
ii) In the no-trade ( autarky ) state, what is the relative price of food ?
Qo JAWTSIQ it A SicotEs e oifne o g 2
iii) Suppose world trade is now opened up and the relative price of clothing

is doubled than what it was in autarky. Describe what happens to
consumption and production. 4+2+6+3

@AW a1 Ao oS eneeifos afdren s Fe @A Peinea smews e fawd |
(MCTA (9151 @ BesAi(d QUsta el Afda 2 2

iv) Is the country better-off with trade ?

oo difdces st e (ft @ Sopo 20a 2
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Answer any three questions from the following 3x4=12

a)

b)

c)

d)

e)

Under what condition the value of balanced budget multiplier does not equal to

unity ?

What is the difference between ‘spite effect’ & ‘purchase effect’ ?

Explain the alternative concepts of ‘equal sacrifice’ in taxation.

Examine the economic grounds for government intervention in a market

economy on each of the following two items

i) Government expenditure on the army. 2

ii) Government allowance for unemployment benefit. 2

What are the merits of value added tax ?
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2. Answer any {(wo questions 2x14 =28

a)

b)

c)

d)

Why does the Parcto optimality condition "differ in the presence of public
goods ? How do you derive an optimum solution for the allocation of resources

between private goods and public goods ? 6+8

- AIFT) UK BARRRETS Pareto @S SIdWE *(SY ARG T (P 2 &HIFF] 8 ALHA)

Hr45R SeoAmm Hffes @y Sesivia 364 IR 3 & oiafeors fady wacw 2

Compare the effects of a unit tax with those of an equal yield advalorem tax on
equilibrium price and output under situations of Perfect competition and

Monopoly. 6+8

7l efscfare wag QT PR (TG SN GIYA TLAMER AT @ YEHR S0
Beome qaa fofee acan welleeR 05 Adley (B Seoma senfefes owm werwE

QAT FICHIGNT B<ped |

i) Is income an adequate index of ability to pay taxes of an individual ? 5
ii) Compare the effect of a proportional income tax and an equal yield
progressive income tax on the work incentive of a typical worker. 9

@I GTF W oceiqor I 897 Gfb AT i @I TREY 8 FM G

HRFIA! aistfoTel TRIGTRY pFITETB SACEAGA T2 |

Distinguish between internal debt and external debt. Does public debt create a

burden for future generations ? 4 + 10
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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2013
PART-III

ECONOMICS - Honours
Paper- VI
( New and Old Syllabus )

Duration : 4 Hours Full Marks : 100
The figures in the margin indicate full marks.
o FAnafE sdfurem Rote
( NEW SYLLABUS )
GROUP - A
faeta -=
1. Answer any six of the following : 6 x4 =24
a) Mention the features of Green Revolution in Indian agriculture.
b) What are the problems in measuring the extent of unemployment in India ?
c) Mention the different methods of measuring poverty in India.
d) Do you agree with the view that land reforms are a necessary condition for

agricultural development in India ?

e) State the main features of Indian Capital Market.

0 State the major recommendations of the 11th Finance Commission of India.
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g) What are the problems of child labour in India ?

h) State the weaknesses of the public sector in Indian industries.
SIACS MR REercaa gderoia S 3% |

i) Mention the objectives of planning in India.

) What are the necessary measures to improve recent Balance of Payment

problems in India ?
Aleifos PIte @Hma T708a BRI 2o Afeale & & 2
GROUP-B
et - <

Answer any two of the following questions 2x8=16

Analyse the major changes in Indian tax structure since 1991.

Discuss the impact of economic reforms on poverty in India.

Discuss briefly how the process of globalization has affected agricultural sector in the

Indian economy.

Discuss the achievements and failures of the Monetary policy of the Reserve Bank of

India.
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10.

11.

Answer any feur of the following questions 4 x 15 =60

Analyse briefly the major changes in the sectoral composition of India's national
income during the plan period. What conclusions can be drawn from these changes

about the transformation of India’s economic structure ? 9+6

ARIFTFIFIE SIS TSR WD CFEN® Iz A4ie sifdesqafd #rwre [Roms a@q | 93
ARG (AF wiAtwd QYeISE IIHIR Fohwa 3730F [ Frarw s 3w 2.

Discuss the nature of unemployment in rural India. Critically evaluate the role of

MGNREGA in this context. 7+8

OIS I (@R AFfS SNEGH FFH | G2 WP MGNREGA  23Gid SRS FIEHATTR
TR BEA |
Comment on the nature of institutionalization of rural credit in India. Discuss in this

connection the role of NABARD in providing rural credit. 6+9

Slace Afopmars afld ad TRIAIZ GIZR APfed 87% GG T | @2 WP A A FIIAN0E
NABARD-93 3@ S5 334 |

Discuss the major initiatives undertaken in the New Industrial Policy of 1991. 15
Evaluate India's financial sector reforms in the post-liberalisation period. 15
Write short notes on the following : 8+7

a) EXIM policies
EXIM «if$ |

b) Recent Monetary Paolicies.
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West Bengal State University

ECONOMICS - Honours
Paper- VII
( New and Old Syllabus )

Duration : 4 Hours Full Marks : 100

1. Answer any three of the following

The figures in the margin indicate full marks.
1 Al s Ao |
Use separate answer scripts for each Group.
2f$fe Reftsr o= wiwim TEasia 92 3% |
( NEW SYLLABUS )
GROUP - A
et -=
3x4=12

questions (-(FT &6 LT3 T&a e ¢

a)

b)

c)

d)

e)

Distinguish between pairwise independent and mutually independent events.
Lor1l AR (TTOR FFie! 8 AR I Ty A1) w0l 3% |

Distinguish between probability mass function and probability density
function.

TN 9|@ NFS 8 ATRA TAG SCHIR 04 ALF fRefy I3 |

Define Type I and Type II errors and show that both cannot be reduced
simultaneously.

I €33 A% 8 11 (IR AT 75 77 | (IR @ ST 932 AN I IR A1 |

Show that Poisson distribution is a limiting form of Binomial distribution.
ORIA (1 oA feaim fae fRccra ars el |

Explain the concepts of sampling distribution and standard error of a statistic.

@MW @35 oS Foraa T RArer @ s 9if® 1 26 |

Show that if X and Y are two independent random variables, then
var (X + Y) =var (X -Y).

AR @, 7@ X 8 Y 9fS FEA AA7TI 567 T S@ var (X +Y) =var (X - Y) |

JB.-B.A./B.Sc. (HN)-ECOA-11077 ] WBSUB Turnover
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2. Answer any one question : 1 x 8=8

a) i) State and proved Bayes' theorem. 4

it) What is the probability that if a fair coin is tossed six times we will get
I) exactly two heads ?
II) at least two heads. 2+2

b) Find the standard error of a sample mean in both SRSWR and SRSWOR.
3. Answer any two of the following questions 2x15=30

a) 1) What is moment generating function ? Using moment generating

function find out mean and variance of Poisson distribution. 3+4

T BAME LT FICE WA 2 F TAMS WAFS I (I W AR
YOI 8 cona fRefa T |
ii) The height distribution of a group of 2989 individuals.is known to the

normally distributed with mean 65 inches and SD 2-1 inches. Find the
number of individuals whose heights lie between 60-8 inches and
67.1 inches. Find also the number of individuals whose heights are
above 67'1 inches. | Given ® (2) = 09772, ® (1) = 0:8413 where & (z) is

the cumulative distribution of standard normal distribution ]

2989 A ey THoR [P FrefRe | @ 74 65 e @2 e Rpfs 2.1 e
60-8 3f® W32 67-1 3T WKy Tl 7w Jfew Wy [efa e 1 67- 1 33 o0

@M Tl W eI MAe [WfT Tl [ ST WMr @ (2) = 09772 @
(1) = 0:8413 @ & (2) AW FroifFF R[N FICNHNF Fre=m |

[SUB.-B.A./B.Sc. (HN)-ECOA-11071 ] WBSUB
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b) i) A bag contains 5 white and 8 red balls. Two drawings of 3 balls are made
such that (i) the balls are replaced before second trial and (ii) the balls
are not replaced before the 2nd trial. Find the probability that first
drawing will give 3 white balls and 2nd 3 red balls in each case. 7

935 Afre 5 5 Mt @32 8 T a11e 3= witm | @3 36 Fta W@E 3= o=@ @A
(1) RSITAR (oER Sa Iafd @R T =, (i) ST (o WS Iafk
TR I @ A | AfSTS oFTa e 36 At ¥k faSima 3% @[ 39 coreR
IR Aefa I |

ii) A and B play for a prize of Rs. 99. The price is to be won by a player who
first throws a ‘3’ with one dice. A first throws and if he fails B throws and
if he fails, A again throws and so on. Find their respective expectations. 8

99 BIF UiRER T A R B (W | @I AN @ (ATERS A9 ‘3" (T R

AR &S FCA | AL A 2P0 TP 33 9R IW G SFeFd 27 R B o4rn e«
IR R M B SFoI W TR IR A U I3 GZOMA 5el(S U | S

YTOIEA Loy el F%a |
c) i) Evaluate the probability density function from the following distribution
0] if x<O

1
function : F(x) = sinmx  if Osxs E

1 if x> =
2
5
0 I x < O
F(x) = sinmx W 0 s x s —
2
1 1
2
i) Nine digits 1, 2, ..... ., 9 are arranged in random order to form a nine-digit

number. Find the probability that the number is divisible by 2 or 4. 5
1 (T 9 @2 AW MRAMNF WARSIE AfGE@ 93 97 WEFI FAR1A TS 341 F|
HA7 2 Sl 4 211 Reen 28R AT IS ¢

SUB.-B.A./B.Sc. (HN)-ECOA-11071 ] WBSUB [ Turn over
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-

ii) Prove that for any two independent random variables X and Y,

E(XY)=E(X)E(Y). 5

i X 8 v g5 Aseiza FfK 557 20 oA RN @ E (XY )=E(X)E(Y).

d) i) Explain the notions of unbiasedness, consistency, efficiency and
sufficiency of an estimator. 8
G i AIPFFEACPY unbiasedness, consistency, efficiency @¥3% sufficiency-d3
el R T |
ii) Consider a set of n Bernoullian trials with probability of success p. With
i-th trial we may associate a variable x, having the p.m.f.
S (xl I P) = px‘ (l - P)l " % for X;= 0, 1. Show that Zx, isa
sufficient statistic for p. 7
n Bernoullian trials -93 $%® Q351 IF4 TMQ AFENT AR p. (- trial-9q
X 1 - x
ACATF x, BCPA p.mf. (WS TR f (x’. | p) - p (1 - p (
T x.=0, 1, e @ 2 x, p~49 sufficient RLATF |
GROUP-B
1. Answer any three questions 3x4=19
a) If the marginal cost function of a firm is given as Cl(q) = 2e%2 9 and if fixed
cost is 90 then find the total cost function C ( Q ).
1 @ Tl afse Tm wers C(q) - 29?9 @ I 90 T
TR % T TS AR (37 T |
b) Why are natural exponential functions extensively applied in economic analysis

despite the fact that not all growth patterns may actually be continuous ?

Explain.

el BAAEE 4191 beINE q X8 GYRfOF WRAGTI (@9 natural exponential
functions -&9 AT I 2T ? I A |

[SUB.-B.A./B.Sc. (HN)-ECOA-11071 ] WBSUB
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c) If the marginal propensity to save is the following function of income

; -
S (Y) = 0:3 - 01 Y 2 and if the aggregate saving S is nil when income
Y is 81 then findout the saving function S (Y)). 1

afii onfs® ey gacret SAwI® S' (Y) = 0:3 - 01 Y 2 @wamAfiAwns=0
WIS Y = 8] ©IF ABY GAFS A4 f[efa I 1

d) What do you mean by basic feasible solution of a linear programming problem ?
AR cananfik 93 @Fre RFfeRe] sym = & @ea

e) Check whether the following input-output matrix satisfies the Hawkins-Simon
conditions

0-1 025 04
A= 01 0-5 0-9
0-2 0-4 0]
e 2AG6-SmT6 #[5 MfFAT 267 A2 *Swfa sjaq a3 6 O + 5% 334 ¢
01 025 0-4
A =01 0-5 0-9
0-2 0-4 0
f) What is saddle point ? Why is a constant sum game also called a zero sum
game ?
NG AT IS I 2 7 @R (o ) q@siwe [fR (o 360 2 @ ¢
2. Attempt anY one of the following question 3 1 x8=8
- (I G eesa &g =

a) Consider the following equilibrium situation :

w. a + r.a = P

where w is the price of labour and r is the price of capital au(akl) is the

amount of labour ( capital ) required to produce one unit of the i-th commodity.
Using these equilibrium situation show with the help of the Cramer's Rule that
an increase in price of a commodity raises the return of the factor used
intensively in the production of the commodity. 8

Mo sizww swzla [Frasa s34 2

w. aL] + T ak: = Pl

w. a + r.a = PZ.CII?UCHw T A W GR r 26 YR Wi |
2 2

a,(a,) T & 9T | o TG AR =@ (FiA ) Fearom AR | @@ SR Sy
AR Cramer-93 fTHGR YW@ (RA A @I T@ W I (4E & 7 Teoime

FRTeIT 7 TomATGH Boitefa 3 =ir |

[SUB.-B.A./B.Sc. (HN)-ECOA-11071 | WBSUB [ Turn over
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b) Let the demand and supply functions be
dp
Q, =a- + 0 and
d Bp dt
g = -Y + dpla,B.y, 350)
Assuming that the rate of change of price over time is directly proportional to
excess demand, find the time path P ( t ) and the intertemporal equilibrium
price. 8
WA T SIfEw1 @ @M ST ale IAE
dp
=q - + 0 — ¢
Q d pp dt N
QS = -y + ap(a.ﬁ¢7v 9>0)
WeR ARESER TR @R- SfeR@ siftna 3 MR Sgenfes «@ A w2l
P (t) 93 SREIIW SRAITG 7 Fafad 3% |
3. Answer any two of the following 2x 15=230
a) i) Set up the Samuelson model of the multiplier acceleration interaction.

Use the solution of the second order difference to interpret the time path

of cutput Y for
2
D v<(1-+s)

2
1) v > (l + 1/5) where y, v and s have their usual meanings.

QI (G qro-foNre RAtAe TPy TTa(s Gorglom 37 | fadre Iaam
SN LI FCI AR Q8 TG Y91 F9i Reeraed a1 T4

) D < (1 - Jg)z G

11) u>(1+\/§)2cmmy. v, s- FeRE G 3fo T |

[SUB.-B.A./B.Sc. (HN)-ECOA- 11071] WBSUB
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ii) Derive the fundamental differential equation of the Solow growth model,

clearly stating the assumptions. 10+ 5

RN 8 S $7 6 Solow growth ACEEHA AIS fEFIRRERIE Fhe9D

fdfa Tz |
b) Consider the following valuation problem :
subject to Uy + Uy +2uy 2 1
> 0.
= 0.
i) Construct the dual ( allocation ) problem.
i) Solve either of the problems ( you can use any method ).

iii) What happens to the optimal solution if the co-efficient of ug, in the
primal objective function changes to 12 ? 3+49+3
I AR Sare(e Srrmeire u,-7 AR AfRfee 2w 12 -, o ey

YL T fFme dor AT ?
UB.-B.A./B.Sc. (HN)-ECOA-11071 ] WBSUB [ Turn over
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c) i) What are the Hawkins-Simon conditions in a two-industry Leontief
Static open Model ( LSOM ) ? Give the economic interpretation of the

Hawkins-Simon conditions.

72 e R eremlbare Fa 1o wtee fo-aikacm ol & [ 2 ofew-aes

RCLGERSRCISEAS IS RN ENE S 2l
it) Write a note on consumption possibility locus in the LSOM. 8 +7
d) i) What is dominant strategy ? Why is an equilibrium stable in dominant

strategies ?

it) Consider a two-person constant sum game where A and B are two

players and A's pay-off matrix is

Player B
l 4 1
Player A
J 3

Determine the value of the game and the optimal mixed strategies for

each player. 5+10

93t B Ife [(FR g3 @Tea (orwe I R[RE@EA 399 [@IMA A 8 B &

(TG | AR (o-u1T TR =

Player B
Pl 4 !
ayer A
J 3

[SUB.-B.A./B.Sc. (HN)-ECOA-11071 WBSUB
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West Bengal State University

Duration: 2 Hours Full Marks : 25
The figures in the margin indicate full marks.

Use separate answer scripts for each Group.

( NEW SYLLABUS )

GROUP - A

( Marks : 25)

Answer any one question from Question nos. 1 to 2.

|8 Critically explain the theory of ‘Economic Drain’ in British India. Analyse the impact of

drain on the Indian economy. 7+8

&0 orRre wdtafosr Mm@’ wefoa AMEBAREE IR I | IO TLNSre 93 T
st facsie s

2. Critically examine the main features of the policy of discriminating protection followed
in India in the interwar period. Did this policy contribute to the growth of Indian

industries ? Explain your answer. 10 +5

Y4 @ RS RArad SRS A0 SRS SPs ([ITIAT A ifeq 84 Caf=yjef siEmsa
T | GBI & Sraoly RieR T=HRE ARy FEfE ¢ SR SerEs D1 e

[SUB.-B.A./B.Sc. (HN)-ECOA-11105 | WBSUB [ Turn over
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3. Write short notes on any two of the following :

a)

b)

c)

d)

New Guarantee system.

Permanent settlement.

Home charge.

Railway freight & fare policy.

[SUB.-B.A./B.Sc. (HN)-ECOA-11105 | WBSUB

2x5=10
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